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How 1= correlation between two variables measured ? What is meant by
& posiuve correlation, and (b) perfect correlation ? What would you infer if
—dxdv turn out to be zero ? (Ajmer, 2008; Jodhpur)

6 T-TEE F F AE ® ? YN d RUTHE HE- Ty | ST i | hae
fof w w2z T v 3R Qof e We-wrery ) Saeied | SRl ¥ wHERE |
\"«'r.a 1= correlation ? Distinguish between positive and negative correlamn

Hlustrate by means of scatter diagrams only the presence of partial nega“"e
periect positive correlation. (C.A. foundauon, Mav, 9901
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5. (a) qﬁ_qc—.ﬁﬁmmqg-wamgmﬁmaﬁﬁm:

Calculate the coefficient of correlation for the ages of husband and wife :

.3 27 28 28 29 30 31 33 35 36
ife °§ f‘“,‘izga“d © Jg 20 22 27 21 29 27 29 28 29
ge of W

(Raj., Arts, 2011; Ajmer, Arts, 2010, Modified) (Ans. : (a) r = +.8177) [ 5]
aj., , ’

(b) 4: 21 23 26 29 33 34 35 139 45 50
Age of husban® = o 49 232 25 30 31 31 35 40 45

Age of Wife . (Raj. 2015) (Ans. : (b) 0.998) [5]



gﬁﬂ:%zﬁmﬁm%aﬂamwm—mmwwﬁw
Ell .

calculate Karl Pearson’s & coefficient of correlation between age and passing

of examination & its probabie error :
Age in years 17 18 19 20 21 29 3

Pass percentage : 61 60 57 66 64 61 51
(Ams. : r = —3307; PE. = 0.225) [13]

o1 e 3 SR TR 31y e ffiran & o afe Pl T 8 A I HI

On the basis of following information, find out if there is any relation between

1)

age and literacy :
. 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-30

Age in years
Ttal population (000) : 200 150 120 100 80 70 60 40
100 90 84 75 64 56 42 24

Literate population (000) : (A |
ns. :. r=+ 0424) [14]
5P 10 vl % o @ e W s :

Find the roefficient of correlation between the sales and expenses of the
fOllowing 10 firms : |
Firmg . 1 2 3 4 35 6 7 8 9 10
Sales : 50 50 55 60 65 65 65 60 60 50
13 14 16 16 15 15 14 13 13

(Amns, : r = 0787) [15]

ExPenses : 11



1. mﬁﬁWﬂﬁQIWﬁmﬁﬁﬁﬁ ? fop aftfeufaal §
TF B Yo Y @) gt @ 2 ”

Defi j ion li
; ne regression. Why are there two regression lines ? Under what conditions can
there be only one regression line ?

(Raj., 2011, 2013, 2015 Ajmer, 1999, 2001, 2006, 2010;

5 oo Udaipur, 2002; Kota, 2005, Bikaner, 201°)

: memmanfammaﬂmﬁvﬁwﬁwmﬁmwrmmw
?FRWW% ? IR X GHAT |

*Plain the term “regression” and its utility in economic analysis. HoW &°

re IrCSS' . . ‘ - . | 2)
3 mir: :l(j,n f?:_lauonid.e rived ? Explain by an example. (Bikaner, 2005; Ajme’. 201



15.

16.

17.

T VAITLN T 3.99.

omﬁmaﬁWﬁmwxmﬂYﬁﬁaﬁaﬁ%'Y'ﬁx 403;;1‘1
l

" M
91 FT | \
Find the regression equation of Y on X where Y and X are the Marks Obtaineg
10 students arc as given : by
y oo 200 605545753525 gp gy
X . 20 45 65 40 55 35 15 gy

30
[15)
20 3

Ans. : byx = 1.105, Y = 1.105X~-1.015 (C.A. Foundation, May, 2002)
foret gl | FATTHA HEHTOT SIS 99T Y 1§60 T | w79 X -
X F1 Y0 §aed, S Y 6 g 25 B
Obtain two regression equations of the following information and find out the
value of Y when X = 20 and the value of X when Y = 25 :

X ; 12 14 18 22 24
Y 16 20 26 30 32
(Raj., 2007, Bikaner, 2014)
(Ans. 1Y = 1.30 X + 4.80; Yy = 18.15; X = 0.75Y — 0.6; Xy = 21.20) [16]
T 3 it @ foreht o o 3 wiferwt F 65 sie i frd €, o daw
T Wi B T g

Given the following data calculate the marks in Accountancy obtained by 2
Student who has scored 65 marks in statistics :

Statistics Accountancy
HHIR BT Mean marks 75 70
AT 9 Standard deviaiiop 6 8
A % By g ey Tl
Coefficient of Correlation between marks in both subjects +.72

Ans. Y = 96X — 2.00; Y5 = 604 [ 171




1. qEIF &t O W qRiwT i v 2 2 RIS i | Seaifaa fafv= fafat
FH-5 § ? |
Why weighting is necessary in the process of Index Numbers construction ? What are
commonly proposed weighting schemes ?

2. T 3R it ol | AR S| 9Ra Tgg dfr qon i goaee wt
ey Gfa =1 au=Ee |

Show the difference between Simple and Weighted Index Numbers. Explain

‘Weighted Aggregative Method’ and ‘Weighted Average of Relatives Method.’
(C.A. Foundationf_ May, 1996)
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Mustration 28 : KA qen Ty o ufg ot § 34 1 Sced (Fg freim #)
%o orafd B WRG & um ¥ ford vem WR a6 W SiEd HSER A T
Given the production in crores of kgms. of wool in India and worlds for five years.

Construct an index number of the share of India in world supply with first four years
erage as base :

Years 2011 2012 2013 2014 2015
India 80 38 92 89 87
World 272 281 279 276 267
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Hlustration 20 : FTEATaET WHehi | T, éqarqtamfvﬁm%t[@ammmw

T F9Q

d 10|

Construct the value and quantity index for Laspeyre’s, Paasche’s and Fisher's fip

the following data :

Base year Current year
Commodities |
Price Quantity Price Quantity
A 5 25 6 30
B 10 S 15 +
C 3 40 2 50
Col..60 D 6 30 8

35 R



Illustrationl4:ﬁqm'@lﬁﬁaﬂﬁ?ﬁmaﬁmﬁﬁﬁaﬂﬁﬁﬁﬂﬁww
Q:

From the following data an inquiry into the bud

gets of middle class families of
Bikaner give the following information -

Prices (in ) Standard

Expenses : 2014 2015 Price (in )
Food 35% 300 290 200
Rent 15% 60 60 50
Clothing 20% 150 130 100
Fuel 10% 50 50 40
Miscellaneous 20% 80 100 80

THY T gE § 2014 TE 2015 ot § Sfte Frate gawis § T gfads

What changes in the

to standard price ?

g e ?

cost of living figures of 2014 and 2015 are seen as compared
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1. =OUE ¥ 39 T GEA T ?mﬁﬁfﬁfﬁﬁrwaﬁmm%?
STOOA F AEYIE T§ IYA H gHen S|

What is meant by interpolation ? What are the assumptions on which methods

of interpolation are based ? Comment on the necessity and usefulness of
interpolation. '

. (Raj., 2013; Ajmer, 2014)
2. ITEOTA F R 7 AUNHA ¥ EHREQ: ol WA B € 2 @ S ™
*aa"’iqﬁ AfFa g R © ? o

What is interpolation? What are the assumptions underlying in interpolqtion?;gg;
does it differ from extrapolation and forecasting?  (Kota, 2013; Ajmer,

AL 3 O
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zl.ﬁﬂmﬁ%mmﬁﬁaﬁﬁmmaﬂﬁmmﬁml,zmﬂ

2,400 | &H I -
From the following data estimate the number of employees
t more than T 2,400 :

more than T 1,200 but no

Income (more than) 500 1,000 1,500 2,000 2,500 3,000

No. of persons : 600 550 425 275 100 25
[Ans. : 369 Persons] [ 21 ]

Z 20 oi7 7 25 F A A TN A AGA H A T HIG

22, fom @ ¥ T .
From the following data interpolate the number of persons earning between

# 20 and T25:
than X : 10 20 30 40 50

Salary less .
Satary, ereons | 20 45 115 210 325
[Ans. : 31 Persons] [ 22 ]

in a firm who earn



CoT s e RHoUsand units] [ 9

Newton’s Method :

11.

12,

1} 99— w2 A~

Years | : 2007 2009 2011 2013 2015
Migration from town A : 233 391 - 582 799 1,035

- [Ans. : 307][10]
ﬁqﬁamﬂzooz%ﬁmﬁfaﬁamﬁaﬁmmmﬁ:

Estimate the annual. sajes of pens for 2002 from the following table :

Years : 2000 2005 2010 2015
Sales of pens (in Lakhs) 73 198 573 1,198

| [Ans. : 93 Lakhs] [ 11]
fava &} s

Wsoﬂ%mﬁﬁﬁww ot 1940aﬁmmﬁm=

Population in millions 81 109 155 | 241
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